Density

0.01 0.02 0.03 0.04 0.05 0.06

0.00

Histogram of N(5, 7)

-20

-10

20

30



Density

0.01 0.02 0.03 0.04 0.05 0.06

0.00

Histogram of N(5, 7)

A — N5, 7)
AT
/’ \
\
I \
/ \
f \
r‘ \
/ \\
7 \
/ \
/Z \\
/ \
/ \
/ \
—|20 —:ll.O (l) l|0 2|0 3|0



Density

0.04

0.03

0.02

0.01

0.00

Histogram of sum of 2 N(5, 7)

=20

-10



Density

Histogram of sum of 2 N(5, 7)

— N(10, 9.899)

0.04
I
—

0.03
I

0.02
l
——

0.01
I
-

0.00

-20 -10 0



Histogram of sum of 3 N(5, 7)
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Histogram of sum of 3 N(5, 7)
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Histogram of sum of 100 N(5, 7)
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